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SECTION -1

Answer any THREE of the following questions :

1.  What is Public Finance ? Explain characteristics of private goods and public goods.

2. Make a comparison between private cost-benefit and public cost-benefit.

3. What is Public Expenditure ? Discuss the causes of increasing in public expenditure.

(14)

(14)

(14)

4.  Describe the effects of public expenditure on production, employment and distribution. (14)

5. Discuss in detail the sources of public revenue.

6.  Discuss the meaning, advantages and disadvantages of Deficit Finance.

7. Explain meaning of taxation and discuss ability theories of taxation.

8.  Describe the effects of taxation on production, employment and distribution.
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SECTION - II (Compulsory)

9.  Answer Any Four MCQ’s of the following : (08)
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The objective of Public Cost-benefit is
(a) Maximum Revenue (b) Maximum Profit (¢) Maximum Welfare

When revenue earned by a state is higher than it’s expenditure it results in

(a) deficit (b) surplus (c) balanced
Modern state is known as

(a) police state (b) free state (c) welfare state
Defence service is

(a) Divisibale (b) Indivisible (c) Private
Public expenditure is that expenditure which is incurred by the

(a) Private Individuals (b) Government (c) Industrialists

How many ways of privatization are there ?

(a) Two (b) Three (c¢) Four

Debt incurred by is pubic debt.

(a) Individual (b) State (c) Institute

Tax on income earned by people is known as tax.

(a) Direct (b) Indirect (c) Progressive
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